Exam 2
Linear Algebra, Dave Bayer, March 29, 2011

Name: 50 ‘Uhoms
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Please work only one problem per page, starting with the pages provided. Clearly label your
answer. If a problem continues on a new page, clearly state this fact on both the old and the new
pages.

[1] Find a basis for the rowspace of the following matrix. Extend this basis to a basis for all of R%.
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[2] Find the determinant of each of the following matrices.




[3] Find the inverse of the following matrix.
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[4] Let
Vi = [1:010]1 Vo = [111:0): V3 = (0:1:1)
Let L: R® — R3 be a linear map such that

L[vl) = Vg, L(v2] =V3, L[V3] =V,

Find the matrix A (in standard coordinates) which represents the linear map L.
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[5] Find the ratio x/y for the solution to the matrix equation
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[6] Find the determinant of the following 5 x 5 matrix. What is the determinant for the n x n case?

»®
0

0
0
0

[+

X
X

o x X o
HXXNDD

==

O O~ x®

Ay 15 peuenl case A=[x] FO) =X

A3 ) # =0

. z )
ﬁsz[ Q,S.K t(z)= %\f,ﬁ AR
X - x 0 -1 =K
: =xf(2) - # x>F0)
s &Y
2 (4 A
e (28] o= 228 A
an s 01X o|1 %
* % X*
n | W = x|V “xz\\x
o | o
210 = x4 +0 = — X
% -xg o -—
y [-x4 Pattem < £()=x%
A F oy X502
1 «6 (n) = x ¥ (n-)-%X T (n-
' s );7 @:0 " )
slo f(n)Y = Cpx  Jhert
G |-x3 Cn, cycles CQWIOJ 8)
S lvo-t-1o 11 0-1-10 110w




